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1.
-

VIP- .

2. SABC, O
ABC.

OB A.

ASB
ASC
BSC
ASO
ABC

3. 4a3 7a2.

28a5 11a5 28a6 28a8 11a6

4.

256 2 16 2 64 2 8 2 32 2

5. 2 2 = 0,
2 4 = 6.
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6.
.

 

     

120 2 260 2 300 2 240 2 130 2 

 
7. y = f (x), 

[ 5; 5]  

  
 

 ( 3; 2)  
 ( 2; 3) 
 ( 4; 3)  
 (2; 2) 
 ( 1; 4) 

 
8.    

? 
 

     

5 6 7 8 9 

 
9. AB, AC  

CAB = 30 , ACB = 100 . 
 

 

I. ABC = 50 . 
II. AC 

2 + BC 

2 = AB 

2.  
III. AB CD  

 

     

I I  I  I II  III  

 
10.  12  82

  = 
 

     

4 52 16 4 52 
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 = f (x) 



 

 
89 https://t.me/abitmath https://t.me/abitblog 

11. ABCD
A =  AD K 

AB = AK = KD 
ABCD, 

BK = d.   
 

     

12d cos  
3

sin
2

d  6

sin
2

d  3

cos
2

d  3d sin  

 

 
 
12. sin2 4   cos2 4  = 
 

     

 cos 8  1 sin 8  cos 8   sin 8  

 

 
 
13.   = . 

 

     

( ; 0] (0; 4,5] (4,5; 6] (6; 12] (12; + ) 

 

 
 
14.  n- bn = 0,8  2n + 3n. 

. 
 

     

18,4 37,6 13,4 63,2 24,8 

 

 
 
15. x2 + 3x  6(x + 3). 
 

     

( 3; 6) ( ; 6)  (3; + ) ( ; 3) ( ; 3)  (6; + ) ( 6; 3) 
 

A D K 

 

d 

CB
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16.   = 
5 1
2

        

3) 
 .  

 

 

1   5 1
2

 

2 log5 (2   ) 

3   2 
 

 

   

  

  

   

   
 
17.  

 
 

 

1  
2 [1; 4] 
3 [1; 4]  

 
 
 
 

 

 y =   

 y = sin x 

 y = x2  1 

 y = 0,5x 

 y =  

 

 
 
18.  ABCD 

BCL KAD, M. 
MN  AB, BC = 12 .   
(1    

. 
 

 

1 AN 

2 AB 

3 AC 
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 . 
 

19.  f (x) =  + 7 F(x), 

( 5; 0) F( 2). 
 

 
 
 

20.  S(6; 1; 8). 
K( 8; 3; 2) 

 V  . 

 

 
 
 
21. 

 
 

 

 
 
 
22. a,  

34 8 9 log 2 3x x a  = 0 . 
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1  

2  

3  

4  

5  

6  

7  

8  

9  

10  

11  

12  

13  

14  

15  

16 1 ; 2 ; 3  

17 1 ; 3  

18 
 

 

19 25,5 

20 375 

21 32 

22 31 

 
 
 


